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UNIVERSITY OF NORTH BENGAL
B.A./B.Sc. Programme 1st Semester Examination, 2019

DSC1-ECcoONOMICS

MICROECONOMICS

Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

GROUP-A-
on-F
Yus-H
1. Answer any four questions: . 3x4=12
(- BTG Ars Ted wies
B IRAS] TTEEH] SR RTE;
(a) Define Giffen good.
[RSEERIRISE G
e axgar oA e |

(b) Draw a demand curve when price elasticity is infinity.
b HIfRwI A o 9 @ih wiNee Efegiwre!l 5w |
TeU W T ATET AT Y i TR |

(c) Define the concept of opportunity cost.

AR JEE R 7S |

TR AR afamT geN |
(d) What is scarcity rent?

TRNATSNS el FICE 0 2

Tod T 9@ & 8 ?

(e) Whaf is Law of variable proportions?
AW ARG Sgeiives Nfefd & 9
aRadseier suTas) e @ 8 ?
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(f) Mention two elements of profit.
TR 76 SARICTR Trare 41
AT gEacT e Jarsgeid |

GROUP-B
Retal-¢
Yue-9g
Answer any four questions
R-(FI BI4T5 @tea Ted we
B RIS TEHD] SR (TN
2, Explain why demand curve is negatively sloped.
SIfEWI Gl (1 faeltsh = ot <t =01
AT Y& T 5 T60@d g6 W e |

3. Show that income elasticity of demand > 1, when total expenditure on a good
rises as price of that good falls. :

IR W B FE WA O (6 IR AR AE (rdle @ HiftnR wiwete
RSzt Ey > 1.

g B TP [ GCH PR O TP A Al Il §O a9 AIDT
I g > 1 9 ¥R Eeged |

4. Discuss the characteristics of perfectly competitive market.

sjfeferiPerE IR @z i 3=
ol yioedeicis IoiRa! faeaes a9t e |

5. (a) What is meant by price discrimination?
RIS SR eI F @R 9
g fave warer & gfers ?
(b) Discuss in which conditions price discrimination is possible.
(I SRET WV 2SI TG S0 41|
H IHGROATERAT I faie w91 g7 dal ey |

6. Discuss the reasons of wage differentials in different occupations and places.
Rfen e @ R B gl AR ANGTR FRoef SiEsal 711
fafts Jemew Y SiSswdr wTe % FiTarer BRYES T4l e |
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T. Explain why average cost curve of a firm is ‘U’ shaped. 6
@ G IR T JAEA ‘U’ ARFod 2, T F91
T R AT AT YT 5 U-sThRa! §76 W IeN |

GROUP-C
rete-at
HUS-1T

Answer any fwo questions 12x2 =24
@-FH 75 etis Tea e
F GaCl UIERd! SR (S8

8. (a) Define SAFC and SAVC. (2+2)+8
SAFC 8 SAVC-&3 K& WS |
‘SAFC’ 31f ‘SAVC’-a%! gRmT fagi |

(b) Show that the short-run average cost curve is drawn as a summation of AFC and
AVC curves.

@A T FTFE T FIEA FF F41 T AFC 8 AVC @F (91T |

BT N YT e ReR @a (AFC) &Y effa uRead-eiier oire
(AVC) XE@TEw®! ANTEre i TR 941 TS Ie |

9. (a) Show that a monopolist can get supernormal profit, normal profit and even 6+6=12
negative profit in the short-run.

FANe @ FIFIE GFEH GFEOT FRAAR TORE ot FEF AT, RS T
R AR YT S S FA0S A |

ATPBTH TSI URIBRI STlifbes ATHI, ARG AT%T 19 RoTHS ATHT
oY Ued TaS W TSR |

(b) In the long-run, can a monopolist incur losses?

RN GFE GFEH PRI S 7 2N Kol wesno=i +41
SefHTem B, B THIRDHNIS AGa J87 Jo ?

10.(a) Show that the Price effect is a combination of income and substitution effects. 6+6=12
(it (4 MIWEISI STl SHETS @ SR i |
Hog TG, 3T THTg A IRReITT JMIad! |are 81 W91 Sersgeiy |
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(b) How do these two effects behave if price of a giffen good changes?
TP wer i ~IRRS R e % e uft Rt wivaet 5 2

S G e axgel Yed Radd g8 99 A g3 Tiased Bl dER
TS ?

11.(a) Distinguish between gross profit and net profit. 4+8=12
G AT @ o AP e Ay [
HA BT AN g ATHT A1 e THEN |
(b) How nature of profit differs from incomes of other factors? Discuss.

AR ) ST SR A TAF &S FOI 7j2F 280 — Setsal 521
I GETEHD! ATTSHART AHDH! YHiT Hel g g5 ? 7 THen |
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